& % 24°b - 6a°b* ©] Y57t obd AL2?

® 2 @ 2% @
@ a-3b ® 2(a-3b)

2ab — 6a*b* = 2a’b(a — 3b)




2. a(2a-b) - (b-2a) & J5ES|5HA?

@® (a-1)(2a-b) @ (a-1)(2a+b)
® (a+1)(2a+b) @)(a+1)(2a-0)
® a(2a-b)

a(2a—b) — (b—2a) = a(2a - b) + (2a - b)
=(2a-b)(a+1)




(x+2)? = (x=1)(x+2) & HA7Hote] ko] UEp?

D 2x2+4x+6 @ 2x% —4x
@3x+6 ® 3x-6

® x2-7x+2

EN=(x+2){x+2-(x-1)}
:(x—|—2)>(3=3x+6




4.  (x-2y)(x-2y-3)-10< J5Eafstd
(x=2y+m)(x=2y+n) &, mn ] 27

@-0 o3 ® 10 @ 2

B

x—2y =tz 54,
((t-3)-10=r-3r-10
=(-5)(r+2)
=(x—2y-5)(x-2y+2)
om=-5n=2

Somn = —10




Y a2 a? - x 1 & AFRABE 1), ofe) BAeIA T A5t
=]
=

B7]
@ x*+1 © x-1 © a+1
® x-2 @ a-1
® 9,0, 0 @ O, 3)O,®, ®
@ @0 ® ©, 6,06

a?x-a?-x+1=a*(x-1)-(x-1)
=(a+1)(a-1)(x-1)




6. o5 odA9 daEsl AN @, Ol ol 8H F4& B4
Zof 2he| = A2 A27

r+2xy+1y’—1
gl
=(x+y+1)(z+ y—l)j

)
W) a® - b* = (a+b)(a-b)

) x2 + (a+b)x +ab = (x+a)(x+b)

2}) acx? + (ad + be)x + bd = (ax + b)(cx + d)

@b, (+h @ (Wb, Oh ® (h, (h
@ (), (°h ® (7. (=

2 F2xy+y?-1
=(x+y)?-1 - da®>+2ab+b*>=(a+b)? ol &
=(@+y+)(+y-1) - (@®-b*) = (a+b)(a-D)




7.

o] A AL LB H A2y + 42 + 2x(y + 4) - 8 =
(xy+Ax+B)(xy+Cx+D) & W, A+ B+ C+D 9 32 43}
of &,

b [l ]

> & 10

y+4=12 A5t

Xy +4)2 +2x(y+4) -8

= x2% +2xt -8

(xt+4) (xr—2)

={x(+)+4} {x(+4) -2}

= (xy +4x+4) (xy + 4x - 2)

et A=B=C=4,D=-2°22 A+B+C+D=10
ojtt.




Ae W, $2 A7

Flo

bl
tlo

8. (a+b)(a+b+3)+2EJAFES

® (a-b+1)(a-b+2) @(a+b+1)(a+b+2)
® (a-b+1)(a+b+2) @ (a-b-1)(a—b-2)

® (a+b-1)(a+b-2)

B

a+b=A 2 2%5IH

(F4) =A(A+3)+2
=A2+3A+2
=(A+1)(A+2)
=(@+b+1)(a+b+2)




A=V3++V2 B=V3-12
A])
A2 -B2? = (A +B)(A-B)

(V3+ V24 V3- v2)(V3+ V2- V3+ V2)
(2V3)(2V2) = 4V6

=
e

—




10. (x-y)(x—y+4) +4 5 AFENE (ax + by + ¢)? T A7}t

w2t oltf, a+ b+ c & F2?

@2 @ 4 ® 6 ® 11 ® 16

B

x-y=Az=sHd
AA+4)+4=A%+4A+4
= (A+2)?
= (x-y+2)°

wet a=1, b=-1, c=20|B2
a+b+c=1-1+2=2 0|t}




11, x® —4xy +4y? +2x — 4y — 15 & AFE3|51H?

@® (x—2y+3)(x—2y-5) @ (x+2y+3)(x+2y-5)
® (x—2y-3)(x+2y+5) @ (x+2y+3)(x+2y+5)

(@)(x—2y—3)(x—2y+5)

B

(x® —dxy +4y?) + 2x -4y - 15
=(x-2)%4+2(x-2y)-15
=A%2+24A-15=(A-3)(A+5)
=(x-2y-3)(x—2y+5)




12.

(_‘/‘,_4_/\1

A1) = X2+ dxy + 452 = 9
= (x+2y)* -9

= (x+2y+3) (r+2y-3)

L (x4+294+3)+(x+2y-3) =2x+4y




13.

@ 2x% - 8x% — 10x = 2x(x? — 4x - 5)

= 2x(x-5)(__)

© (x+y)?+3(x+y) +2°04[ |8 A 2 A&7,

O x-1,x-y @ x-1,x+y ® x+1,x-y
@x+1,x+y ® x,x+y

@ 2x% - 8x% — 10x = 2x(x? —4x - 5)
=2x(x-5)(x+1)




(2a — b)? - (2a + b)?
=(2a—b+2a+Db)(2a—b-2a-b)
= da x (—2b)

= —8ab




15. o= F &4 92 A2?

O P-x+2x-2=x-1)x*>+2)

@ xy—x-y+1l=(x-1)(y-1)

® xy-2x+y-2=(x+1)(y-2)

@ 32(x+1)-4x+1)=(x+1)(x+2)(x-2)

@ab+1)-(b+1) = 1 -a)(1+b)

®ab+1)-b+1)=(a-1)(b+1)




